Example:

For a given SLS algorithm for SAT applied to a specific SAT
instance we observe

» a median run-time of 38911 search steps (operation count);

» the CPU time required for each search step is 0.027ms, while
initialisation takes 0.8ms (cost model)

when running the algorithm on an Intel Xeon 2.4GHz CPU
with 512KB cache and 1GB RAM running Red Hat Linux,
Version 2.4smp (run-time environment).
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Correlation of algorithm performance (each point one instance)
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Correlation of algorithm performance (each point one instance)
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Satz time (s)

1000

100

[
-
|

0.1

.

* ¢ 00

*

.

QBN 000 ® 0O 0000

* ¢ 00

*

00000 ¢ @ ©

* ¢ 00

*

00 00 o o

® 0 0 00000 00NN

*

$
.

*
.
.

.
*

WOOND oo W

® 6000

*

.

G 0 0 000000000 NNNUNIMBNNG WO OO 000 00 VOV 200
L 2

oo

LX)

Gome o o o0
.

*

3

* *

© 0000000000 0000 - o o L ] . <%0

G G OO0 0000 000000 ® WO * O o o . . .

G 000000 W0 VINNING ¢ 00 o o e o * .
© 0000000 0000000 000 o0 * o o o o

0.01
0.01

0.1

1

Kenfs time

10

S

100

1000



(IR 4 © O 00000 VNN NNNI00000 0 &

. o o 0000 0 WD D 00 GO0 DO D SWNBINNNNNG 90000000 &
* WO B 000 WD e anen (X}

* O W0 000 » WS & 0000 O

. o & @ @ ¢ 000000 .
o0 000 0000 ® 00 wmD .

o . o o *

O O 0 0 00000000000 L2 4

*
*

.

G 0 0 0 00000 0000 %N B UNG OO

G 0 0 0 0000000 VNNV NNNNNG S 00 o 0 *

*

G 0 0 0 0000000 00000 000

*

1000

T
- —
™

100 -

s)owrn} zyeq

0.1 -

0.01

100 1000

10

Kcnfs time (s)

0.1

0.01



1000

100 -
Z 10 -
>
g
N
51
7p
0.1
0.01
0.01

0.1

1 10 100
Kcnfs time (s)

1000



